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2. Background

OO0 00 MO0 oIt

MO M MO0 m o i

“ [0 110 0 00

(T 00T 00 0110 (T reflection) M MKrefraction) TTTITTTTL NITTITTIT QTG

(M3000 00nmme |, L X o
. 1

V, /



https://book.shga.kr/uploads/images/gallery/2021-09/image-1632726823696.png
https://book.shga.kr/uploads/images/gallery/2021-09/image-1632726895563.png

LA )

2171242

[ 3110 [ 0 [T

([0 3100 O YOOI TV Xh) 0 000 0 0 O
(1) [IIT}00 KT

[0 2]0 [ ADD IO 010 bom o onm T

$$T_d = {{X} \over {V_1}} $$
1.
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$$T r={ AB\overV_.1} + {BC\overV 2} + {CD \overV_1}%$%

$$ = {1 \over V_1}{h\over \cos \theta c }+ { X-2h \tan \theta _c\overV_2 } + { 1\overV_1}{h
\over \cos \theta c }$$

$$ = {2 \over V_1} {h\over \cos \theta c } + {X\overV 2 }-{2h \tan \theta c\overV 2}$$
$$= 2h \left ( {1 \over V_1 \cos \theta c } - {\tan \theta _c\overV_2} \right ) + {X \overV_2}%$%

$$= 2h \left ( {1 \over V_1 \cos \theta c } - { 1 \over V_2} {\sin \theta c \over \cos \theta c }
\right ) + {X\overV_2}%$%

$$ = 2h \left ( {1 \over V_1 \cos \theta c } - { 1 \over V_2} {\sin \theta c \over \cos \theta c }
\right ) + {X \overV_2}$$
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$$= {2h \over {V_1 \cos \theta c}} \left (1 - {{V_1}\over {V_2}} \sin\theta c\right) + {{X}
\over {V_2}}%$$
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$$ {V_1\overV_2 } =\sin\theta c $$%$

i

$$ T r={2h\over V_1\cos \theta c } ( 1-\sin ~2 \theta _c) + {X\overV_2} $%

$$ = {2h\over V_1 \cos \theta _c } (\cos ~2 \theta c) + {X\overV_2} $$

$$ = {2h \cos \theta c\over V.1 } + {X\overV 2} $%

0 O OO0 OITO ML \over V_2\)J I 11 \( 2h \cos \theta _c \over V_1\)[J y[I1TJ (1] (1] [T2-
(L

$$ \cos \theta c =\sqrt {1-\sin ~2 \theta c} =\sqrt { 1-{V_1"2\overV 2°2}}%$$%

i

$$ T r=2h\sqrt { {1\overV 172} - {1\overV 272}} + {X\overV 2} = { 2h\sqrt {V.2"2 -
V. 172 }\over {V.1V 2}} + {X\overV 2} $$
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$$ {X O\overV_1} = {X O\overV_2 } + {2h\sqrt {V_.272-V_1"2} \overV_1V 2 }$%
$$h={X0\over2 }\sqrt { {V.2-V_ 1} \over{V.2 +V_ 1}} $$

0 LTk

[T, 00 O 000 000 000 070 070 [0 - 000 000 000 00, 010, 00 00 M 00 070, MO0 0 o o e

010010000 0 i I
M [M(m/s) m [TKm/s)
1 305~610 m 2750~4270

M 00 468~915 M 1830~3970



) 610~1830 o 2140~6100
m 915~2750 m 4270~5190
0 1430~1680 o 4580~5800
m 1460~1530 o 3050~7020
M 1830~3970 m 3673

3. Method & Result
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Results of seismic refraction survey.
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4. Discuss
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